R:\Clients\MHM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, FL-20474.2

Suwre Pock

Works

(O

Fiberglass

SURE ROCK

OPAQUE FIBERGLASS ENTRY DOORS

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition (2014)
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product is
required to be protected with an impact resistant covering that complies with
Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal & Vertical Cross Sections (2X Buck)
Horizontal & Vertical Cross Sections {1X Buck])
Horizontal & Vertical Cross Sections {Direct to Masonry)
Vertical Cross Sections (Thresholds)

Buck Anchoring

Frame Anchoring

Bill of Materials & Components

Zlalo|o| ot Wb~

7,

~
Z
P.O. Box 230, Vairico, FL 33595

’%:6‘

/,

/,,

BUILDING CONSULTANTS, INC.
Phone No.:

w

Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

R

813.659.9197

FBPE C.A. No. 9813

SURE ROCK

FIBERGLASS DOORS
TYPICAL ELEVATION, DESIGN

PART OR ASSEMBLY:
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

oate: 5/17/16

SCALE:  N.T.S.

52.5" MAX. O.A. 67.5" MAX. O.A.
FRAME WIDTH FRAME WIDTH
37.5" MAX. DOOR ___ 37.5"MAX.DOOR
FRAME WIDTH FRAME WIDTH i
°9
z =z
2 P
== 2D
= Q
Q £
20
Yz e ©
é 2 H | H
£ 2 X___oito 0 X__ofito
O <
O
g é. H H
o=
5 &—’ i
l
s | | Iee— Jrm——l e [ e—
2X REINFORCEMENT —= =~ 13.5" MAX. SIDELITE
FRAME WIDTH o
13.5" MAX. SIDELITE
ERAME WIDTH — |a— X REINFORCEMENT
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) |
CONFIGURATION %ﬁé{lﬁfo’ﬁ REINFORCEMENT, INSWING OUTSWING
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
XO/OX 52.5" x 81.75" 2X +45.0 -55.0 +45.0 -45.0
OXO $7.5" x 81.75" 2X +45.0 -55.0 +45.0 -45.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.2

SHEET _1 oF 11

© 2016 R.W. BuiLbing CONSULTANTS INC.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 2.2

HINGE STILE

POLYESTER |- 1.35" {Lvi)

RESIN

PVC CAP

012 ﬂ«
0.30" -

-~ 175" —

LATCH STILE

0.5.' »l F
1.35" |- 1.35" "1 (LVL)

POLYESTER
RESIN

PVC CAP

12.5"LONG
(LVL)

/"1 "\ HORIZONTAL CROSS SECTION

\2/

35.75" MAX.
~—— DOOR
PANEL WIDTH

S=l=]8

N~
— o
bt g
o
[TH] -
T in
ek uwy
[XW}
=
z BE
o) \
Q X Q §
[
<
<€
=
S SEE HARDWARE
CHART

b
. DOOR PANEL

FIBERGLASS DOOR SKIN: MIN. 0.080" THK.
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.}

/ / o012
POLYESTERRESN  -OCKBLOCK —:H~ 0.30"

12.5" LONG

MANUFACTURER | MODE
IKSET KNOB: Signature Series
Kw DEADBOLT:  Signature Series (980)
KNOB:  FSeries (F51)
SCHIAGE | pEADBOLT: B Series (B6ON)

POLYESTER

—1.75" —=]

RESIN

0.30" —-—' —

- 1.65"

TOP RAIL
(LVL)

/

FOAM CORE
DOOR SKIN/
5 |
© 3
BOTTOM RAIL— J —
(LVL) {
POLYESTER
RESIN

/" 2"\ VERTICAL CROSS SECTION

\2/

\
\\\
=
\\ «.. [Ts}
S 2
oy c. 2]
2%5’ oM
— Py zZ
ol ‘e
- ° - )]
=93 255
Z o Z28gm
L .. ,‘E Y B
> > HJoowo
”, 5> 50
/, D M)
(7 W 2cmg
{7 \ o® -z
) o
* <
o xz<
B E, Z8,°
] _CO) el (5]
a £0O I~
23y 35025
e 72 oo
$le v,
& 2]
Q
£ 67 L§
3 T .
g su
o 2o
0
" =
& =
¥ O Ly
(&) [
o0
vey wd
Q:m > Ly
3
w® @ 2
<
23 18 E
nE 1§ o«
W < ©
SR |l 8
o
2 o
o &
o <
[+ 9 o
>.
23]
v
z
O
w
=
o
o
b
<C
o
O
z
oate: 5/17/16
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-20474.2

SHEET _2 oF 11

© 2016 R.W. BuiLbing ConsuLTanTs INC.



POLYESTER HINGE STILE §
1.35" = LVL .
RESIN l‘ (vl INTERIOR g -
= PN
Lo
| ‘ Ly
R PVC CAP . . fieg
* e 1.75" —= XS g7
‘ w §2%©2
. POLYESTER & O%g.
012 "J RESN ‘ 38 92323
0.30" — 4 5 Eo 500
a £0 5 .cuw
P g I
- < e '? @manco
/"1 "\ HORIZONTAL CROSS SECTION g8 - PR
3/ S | o2
TOP RAIL 3 T
(LVL) 8 3a @§
5]
12" MAX. PANEL 8.81" FRAME 3(’
WIDTH WIDTH ]/2" GLASS BITE —= [ (£ E
> ¢ ) FOAM CORE xS S
1-1/2"PPH PLASCREW 1" OVERALL GLASS THK. Shll T
‘ wo |3l §
- . 53 13 w
WIDTH 4 - S5~ AIR SPACE 52 [ 8
] _1 = HE N Q S| &
1= ™~ 1/8" TEMPERED GLASS S i
= & EXTERIOR INTERIOR a P
= /10 E© & J
o 5 W < = ) ALUMINUM SPACER =
¥ 9 1 T S o NON-STRUCTURAL
z = O G iy BACKBEDDING SEALANT PVC LITE FRAME
z 9 oS Z (HOT-MELT)
> a e T GLAZING DETAIL
: g s 2 ©
7 % ] 0 2
& 1-1/2" PPH Z
o~ =
™~ g 4 PLASCREW I .48" ] g
; : o
/{
\ /// ] i T ﬁ DOOR SKIN —
SRS I ]
LITE FRAME N - i = *
BOTTOM RAIL - 'z
@2 1 XU (LvL) i ! S
PVC LITE FRAME } )
HM SURE ROCK POLYESTER oaTE: 5/17/16
. SIDELITE PANEL RESIN SCAE. N.T.S.
DWG. BY: JK
/2 "\ VERTICAL CROSS SECTION o o LFS
w DRAWING NO..
FIBERGLASS SIDELITE SKIN: MIN. 0.070" THK. FL-20474.2
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) ot 3 o 17

R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 3.2

© 2016 R.W. BUILDING CONSULTANTS INC.



TON] SANVAANSNOQ SNianing "M'd 9102 @

SO oy,

"y HHOS >

€86 'ON V'O 3Ad84d
LBLE'BSI'CLB

SNOISIAGY

U]
awiiltiiig,
//I/ I—<ZO\ \\\\ \\

TON suoyd A 41v3 {ON N |~
S6SCE 14 ‘0dMIPA '0€Z *eg ‘O'd § SNOILYAZTS . m S th r_Su _.M. H*
"ONI ‘SINVLINSNOD 9NIgTINg gﬁ *ATENESSY d0 Ldvd N [ - S
NSRRI

60YSH "ON “3'd S¥00a SSV1943814 ol 1E5|e |,
IPILYOS "4 uopuky 1o0d 34NS Wil w gl I
s VN, 1Ag padodasd sjuswinoog ‘10N00¥d 318 Z 515 %

.“.\,w».w

* -
" 60vEY "ON -
» - ol

. ¢ oy
., - ~
<o oNao A, &
)
A\

\
i

7t BMP E-THL10Z-1\(PT0T) $Ly0Z-14\sBumeIq - D\yLy0zZ-14\s|erciddy 19npo.d epliofd - YALNANVINYId A20Y 34nS WH\sIUBID\Y



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 5.2

I AIILIIWN WS

EXTERIOR

A\

INTERIOR

7“1\ VERTICAL CROSS SECTION

w Outswing shown (inswing similar)

A

NOTE:

EXTERIOR

1. Spacing for item F: 6" from ends
and 4 more equally spaced along

sidelite {6 fotal).

0.15" C-SINK

- ?W*W
n )

=0

a

D . °’
4 ‘
1° a4y a
b a
\\/\
1-1/4" MIN,
EMB. (TYP.)

T

%) (40

/"3 "\ HORIZONTAL CROSS SECTION

W Outswing shown {Inswing similar)

INTERIOR

SRR &

W

INTERIOR

0.15" C-SINK
(TYP)

7“2\ VERTICAL CROSS SECTION

w Outswing shown {Inswing similar)

N

F77FEIIE

EXTERIOR

o

SEENOTE 1

(=

7”4\ HORIZONTAL CROSS SECTION

\y QOutswing shown (inswing similar)

1-1/4 MIN.
EMB. (TYP.)

\\

INTERIOR

1%

-
©

:

@ EXTERIOR @

/"5 "\ HORIZONTAL CROSS SECTION

\5/ Outswing shown {Inswing similar)

C% /< ’\? ?ﬁr‘*c?s]xim

(TYP.)
INTERIOR

SEENOTE1

EXTERIOR

7”6\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

)
o
0
)
oM
z
RS
w P
282
2 n M
g2 Ep-
4 0w ®
R O}
D n .2
\ ZSwo
\) cmn®z
> O« -
@ S <
32 23%0
5 Eo F®0
a £0O oL g
P33 302%
L T¢ @danuw
A R
c 0
v C
£ 6% §
3 O .
g su
o o
—
x
25
Om
n =
o 0 ><
xo Loy
o0 %
SN >__j ‘%Z
wy o 49
xS Is S5
(&)
20 % Z5
e 14 on
Wl N
ey @ xv
O L xl oW
S ol O
A [vd
e g °
& 5
>—
[22]
2]
pa
o
0N
o
o
i
}—_
<C
[
o
=z
oatE: 5/17/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—20474.2

SHEET 5 oF 171

© 2016 R.W. BuiLDING CONSULTANTS INC.




RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 6.2

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

INTERIOR

/"1 "\ VERTICAL CROSS SECTION

w Outswing shown (inswing similar)

NOTE:

1. Spacing for item F: é" from ends
and 4 more equally spaced along
sidelite (6 total).

1-1/4" MIN.

EXTERIOR

EMB. (TYP.)

)
29

m HORIZONTAL CROSS SECTION

\U Outswing shown {Inswing similar)

EMB. (TYP.)

\\

INTERIOR

/" 2"\ VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

INTERIOR

EXTERIOR

//

Cé i 1-1/4" MIN.

SEE NOTE
] EMB. (TYP.)

/4 HORIZONTAL CROSS SECTION
\6/ Outswing shown {Inswing similar)

0
o
)
)
oM
Z
=25
73] - ™
z 82
2P
. gtog
= )
.2
S o
\ om®2
> O N -
m - o x§<
232 zZ 0% 0
5 Eag 5@
a £0O 3 Lo
P88 5925
LT moniL
a3
c 0
o C
E 6% §
3 T,
g Eu
& 2 a:;
<
=S
Om
n =
Q 0 >
xO Lad =
5O o
S° | &w
ey |- =z
O |8 =9
e Q IT=
013 = =G
20 18 =20
g |4 85
<
.. a4 & wn
5l © |x 89
S o TR
e Bl O
2 Z
o a
>~
s}
7}
Z
O
2]
o
L
<C
a
o]
P4
oate: 5/17/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—20474.2

SHEET _6 oF 11

© 2016 R.W. BUILDING CONSULTANTS ING.



R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 7.2

NOTE:

1. Spacing for item F: 6" from ends
and 4 more equally spaced along

sidelite {6 total).

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

A\

71"\ VERTICAL CROSS SECTION

\7/ QOutswing shown {Inswing similar)

o .

1-1/4" MIN.
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

INTERIOR

29

W Outswing shown (Inswing similar)

Zo
2
Xa
3
EXTERIOR X“/ INTERIOR
/2 VERTICAL CROSS SECTION
W Outswing shown (Inswing similar)
D

INTERIOR

§~\
EXTERIOR é 1 ruemn.

EMSB. (TYP.)

m HORIZONTAL CROSS SECTION
\U Outswing shown {Inswing similar)

230, Valrico, FL 33595
813.659.9187

BUILDING CONSULTANTS,

P.O. Box
Phone No.:
FBPE C.A. No. 9813

w

Lyndon F. Schmidt
P.E. No. 43409

R

SURE ROCK
FIBERGLASS DOORS
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL CROSS
SECTIONS (DIRECT TO MASONRY)

PRODUCT:

BY

REVISIONS

NOJ DATE

oate: 5/17/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.2

SHEET _7 oF 11

@ 2016 R.W., BUiLDING CONSULTANTS NG,



'ONI SINVLINSNGD NGNS "M'd 9102

186 'ON V'O 3Id84 SNOISIATY
L616°659°CL8 "ON euoyg (SAI0HS3YHL) SNOILOIS G =IvG ToN .
S6SES 14 ‘OdUIDA ‘OCZ Xog O'd § SS0Y0 TvOlLYIA =il x 2 < 1_
"ONE "SINVLINSNOD 9NIaTING gu TTIENISSY 80 Luvd W ~ 3 W i
2:::::5 NE 9 8_

//// JKQO\@ \\\\ BOVEHY 'ON "I'd SY00d SSY19y38id 0 Elsle |

OO ooy 0%, wPrues 4 uopuky X008 39NS METEMEE:
/I&... .... 3\\:@ peJodaid sjuswnsog :10NQ0¥d W W z W m M

RETLE LTI

88.“. oN ¢ W\

p
o
- [y
Z
. -
%, L INEON A

e 2 .
\\\ Q\ Segese tw //
\\\\ s:om /////
T
('dAL) "aw3
NIW K/ 1-1
274
®)
[a"4
o
<
[N

A

INTERIOR

(dAL) g3

7“4\ VERTICAL CROSS SECTION

W Outswing Threshold

7“3\ VERTICAL CROSS SECTION

w inswing Threshold
5

('dAL) "aw3
NIW b/ 11

NIW./1-1

EXTERIOR

A

INTERIOR
@)

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

w Outswing Threshold

71"\ VERTICAL CROSS SECTION

W inswing Threshold
\\

('dAL) gw3
NIW ¥/ 1-1

EXTERIOR
@)

78 ‘BMP'E-T'vL40Z-14\PT0Z) b210Z-14\sBuMeIa - D\p/p0Z-Td\s|erciddy 10nPoid BPLOL - YALNINYINYI Y20 8nS WH\SIUSID\Y



7,

N
\\ &.0 in
I8 a
SSiy G
= L: zZ
zoill fon
- mt o
A 2 5o
s * Z O0gm
2 " 53585
MULLION MULLION /,, ’ * 2 > 50
3" (TYP) 3 (TYP) “y PREW 2555
7 (TYP 7 (TYP AT &n® 2
(TP, & (VP (Tvp) ....l - 4"(TYP) N x 2 <
e L8 PR y NI Ay e c z o
/ ‘ / ‘ NgEg 5%,
I 1 I 1 . \& d & 5) 5 O .(0.'. %
‘ ¥ 1] IR L “ L T¢ doaoow
. 2]
— ¥ [ I f gL =
. — z
‘ = ] I & l [ — § -§ u
= ! = ! = 8 3¢ &j
- o - < I _ o
H H
2X BUCK HEAD & JAMBS || | H
(TYP) \ (TYP.) 1 || HEAD & JAMBS [ 4 Q
=
- T e I S | E
- -l | &Y o
oy H I Q 5
| wREE
MASONRY i :l R w2 |3 <
— H - - H H — . e |9 3
l _ - I I - 5 - |3
Erom > O prsm— o.
o H = = v H H = & &
oy > Q e 5 O
—|_ I =3 B | ol Zs -
s N I sl N 1 o
%)
=
Q
2X BUCK ANCHORING =
ot
o
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance fo mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to L
maintain the min. edge distance to mortar joints, additional concrete anchors e
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. O

3. Concrete anchor table: S

. oate: 5/17/16
W ) ; n - SCAE N.T.S.
TAPCON® | 14 1-1/4 2 4 owe. Y. JK
ELCO 0 1y " i CHK. BY: L.FS
utrRAconN®| 14 1-1/4 ! 4 BRAWING NO.-
WOOD SCREW INSTALLATION NOTES: FL—20474.2
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of .
wood screws to prevent the splitfing of wood. SHEET 9 oF 11

R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 9.2

© 2016 R.W. BUILDING DONSULTANTS INC.



R\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 10.2

G& MULLION
6" 4 (TYP) ——] |
(TYP.) l'" 8" (TYP) |
T T
o 2X BUCK =
=
o xBuck fifl— —II ®
DIRECTTO
FRAME MASONRY
(TYP.)\ " HEAD & JAMBS 7 - ]
(TYP)
3E
2X 25
— — - LU
REINFORCEMENT =0
(TYP.)
-, - -
Q SILL

CONCRETE ANCHOR NOTES:

XO/OX

o (TYP.)

FRAME ANCHORING

& MULLION

4" (TYP) —

.

8" (TYp)

o 2X BUCK

1X BUCK
DIRECTTO
MASONRY _

"HEAD & JAMBS
(TYp.)

2X W—
REINFORCEMENT
(TYP.)

. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

—

. Concrete anchor table:

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

W , ) . .

Apoon® | 174 1-1/4 2 4
EICO - . . .

uiRACON®| 174 1-1/4 1 4
lTw " it it}

Ay | 36 1-1/4 3 112

WOOD SCREW INSTALLATION NOTES:

wood screws to prevent the splitting of wood.

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

| S

OXO

A

e

(3 ——

= \ = /

27

&' (TYP) »j -

14 MAX
O.C.(TYP)

LATCH AND DEADBOLT STRIKE PLATE DETAILS

olFR KH |

5.5

STRIKE JAMB

11.25" FROM
1 TOP OF FRAME

28.5"0.C.

n|

HINGE JAMB

\

1

voll=

i

L@
\
A\

HINGE DETAIL

DIRECTTO
MASONRY

1XBUCK

2XBUCK

0
[}
9]
)
oM
z
5
n R
£382
2:2?2
TR
3>r,50>
%) RS
Ow o
L 88te
o3 oxg‘f
Ee} 3
g'é 28 O
g ftoa pg%e
2 O M o.cu
L a4y 5024
e 7% @dado
3w
< 0
@ C
£ 6% §
3 U .
5 su
e 2ad a%
L O
S =
S8 S
o I
o (3] O
0 |9 =
LxJS o <€
o =
S0 |l w
nx | =
W |0 F
I T I
ElE g &
3 o
S 2
o o
>..
23]
o
Z
o
2
=
L
Iva
!
<C
o
o
z
oaTE: 5/17/16
SCALE:  N.T.S,
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-20474.2

sHEeT 10 oF 11

© 2016 R.W. BUILDING CONSULTANTS INC.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 11.2

BILL OF MATERIALS

4.6"

0.5" —
2.57" I-"

FRAME
SURE JAMB

ITEM # | DESCRIPTION MATERIAL
A |1XBUCK (SG >= 0.42) WOOD
B | 2X BUCK (SG >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -
D | 1/4"X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
¢ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR CONCRETE
HOLLOW BLOCK CONFORMING TO ASTM C90
G | 3/16" X 3-1/4" PFH TW CONCRETE SCREW STEEL
1 | 1/4"X 3-3/4"PFH ELCO OR TW CONCRETE SCREW STEEL
K| 1/4"X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
L | #10 X 2-1/2" PEH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
M | 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
X__| 2X REINFORCEMENT (SG >= 0.55) WOOD
1| FRAME [SURE JAMB) COMP
6 | WEATHERSTRIP [Q-LON] FOAM
8 | SWEEP VINYL
13| INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
18| INSWING SIDELITE SPACER PVC
19 | OUTSWING SIDELITE SPACER PVC
23 | #10 x 3/4" PFH WOOD SCREW STEEL
24 | #10 x 1" PFH WOOD SCREW STEEL
25 | #8x2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29 | 4"X 4" HINGE STEEL
40 | DOOR PANEL .

13 INSWING THRESHOLD

ENDURA (Z-SERIES)

4.56"

1«- 241" ——]
S

JU

14 OUTSWING THRESHOLD

ENDURA (Z-SERIES}

‘ 2.36" '
| |

P.O. Box 230, Vairico, FL 33585

BUILDING CONSULTANTS, INC.
Phone No.:

w

Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

R

813.659.9197

FBPE C.A. No. 9813

SURE ROCK
FIBERGLASS DOORS

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

NO. DATE

REVISIONS

oaTE: 5/17/16

scaLE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.2

sHeer 11 ofF 11

@ 2016 R.W. BUILDING CONSULTANTS INC.




